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154

Who did give black hole theory?

&(ph&IeneT GHETLUTLenL Q&THS el

(A) Stephen Hawkins
6fule LI6H amT&HENRI

(B) Einstein
6BT6IV1e 65T
(C) Plank
ey

(D) None of these
Beummleb 67§)LhlsLemeD

A

161

Mercury is used in thermometers because

Qeudiublemevnmesiluged LTS FELD
LwIeTU(R & S SSTIT600TLD

(A) It is a bad conductor of heat

Qeulingemng sflLTGS SLSHSTS
SITIT65015 H6TTTEL

(B) It is a good conductor of heat

Qeulingeng sfLTs:S &L &gleudermed
(C) It is dull inside glass tube
seguemigWilgnie QAgeafNeunss Qg
SITIJ65015 H)6uTTEL

(D) It does not expand due to heat

Qeuling Seamed exilifleuemnL TS
SITI600TSH H6vTTE0

All
options
wrong
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............. Radioactive isotope is used in treatment of
cancer

UHMICHTIL H&&engued
LweTu®RSSLULGLD SHFIISHS
aGenGLmiy

(A) Carbon 14
SITTLIGHT 14

(B) Cobalt 60
CamumeLL_ 60
(C) Uranium 235
W CryeofluwLb 235

(D) Todine 131
HGuwImg 657 131

177

The elements can lose electrons to form ions which
are positively charged are called ...
SHENLOMISE, 6T6LEL_[JT6TTSH6mer QLo G|
GBIy LOIGTETLL_hi&emend Gl mes(h
2_(HeUTHGLD. HMEUGW ...,
eTeoTLIL(BLD.

(A) Anions

6T 3{Ut6vTlS6iT

(B) Cations
CiIT SiwlesN e

(C) Positrons
LTS JTesT &6l

(D) Nucleons
1BILL), & 6YILLIT6T &eiT
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Tashkent agreement was signed between the two
countries

'BTERSEIL RUUHSLD' THS QT
BT(H5Ep656mL G mECUI(SSTer S

(A) India - China
Qb&wi-Feurm

(B) India - Srilanka
AnHwim-geomiens
(C) India - Russia
@HSwIT-jeiwim

(D) India - Pakistan
@b WIT-LITElerog mest

275

The Right to Information Act was passed by the
Parliament on

556060 LD 2 fenb&FL LD
urgmEsLosiTm& e MenmGeummUL L
268010 61517

(A) 2005
(B) 2006
(C) 2007

(D) 2008




294

The four-digit largest number which is exactly
divisible by 7, 12 and 15. .

7,12 DMHMID 15 Y& 6TEHOIS EMMITED
B L6t eUGUEGLD BT6TE Qo0&
LOSUQUIflW T6gor . .

(A) 9660
(B) 9240
(C) 9640

(D) None of these
BeuhMiev gJ&ILA6LEmED

298

Find compound interest for 3 years for Rs 3000
amount at 10% interest rate.

€53000 QG TENSHSHSITE 3 6U(HL HSHMHST60T
oL (B UL 1quNemert 10 % eUL I 62155 &6
SITCHOTS .

(A) 3993
(B) 3900
(C) 4993

(D) None of these
BAeummied g ILhsLeme




